


	<b>SAKARYA UNIVERSITY JOURNAL OF SCIENCE</b>		 <b>SAKARYA UNIVERSITY</b>
	e-ISSN: 2147-835X http://www.saujs.sakarya.edu.tr		
	Received 15-10-2018 Accepted 12-11-2018	Doi 10.16984/saufenbilder.470493	

## Summability factors between the absolute Cesàro methods

G. Canan Hazar Güleç\*

### Abstract

If  $\sum \varepsilon_n x_n$  is summable by the method  $Y$  whenever  $\sum x_n$  is summable by the method  $X$ , then we say that the factor  $\varepsilon = (\varepsilon_n)$  is of type  $(X, Y)$  and denote by  $(X, Y)$ . In this study we characterize the sets  $(|C, \alpha|_k, |C, -1|)$ ,  $k > 1$  and  $(|C, -1|, |C, \alpha|_k)$ ,  $k \geq 1$  for  $\alpha > -1$ . Also, in the special case, we give some inclusion relations between methods, which completes some open problems in literature.

**Keywords:** Sequence spaces, Absolute Cesàro summability, Summability Factors.

### 1. INTRODUCTION

Let  $\sum x_n$  be an infinite series with partial sum  $(s_n)$ , and by  $(\sigma_n^\alpha)$  and  $(u_n^\alpha)$  we denote the  $n$ -th Cesàro means of order  $\alpha$  with  $\alpha > -1$  of the sequences  $(s_n)$  and  $(nx_n)$ , respectively, i.e.,

$$\sigma_n^\alpha = \frac{1}{A_n^\alpha} \sum_{v=0}^n A_{n-v}^{\alpha-1} s_v$$

and

$$u_n^\alpha = \frac{1}{A_n^\alpha} \sum_{v=1}^n A_{n-v}^{\alpha-1} v x_v \quad (1.1)$$

where  $A_0^\alpha = 1$ ,  $A_n^\alpha = \binom{\alpha+n}{n}$ ,  $A_{-n}^\alpha = 0$ ,  $n \geq 1$ . The series  $\sum x_n$  is said to be summable  $|C, \alpha|_k$ ,  $k \geq 1$ , if (see [4])

$$\sum_{n=1}^{\infty} n^{k-1} |\sigma_n^\alpha - \sigma_{n-1}^\alpha|^k < \infty. \quad (1.2)$$

On the other hand, by the well known identity  $u_n^\alpha = n(\sigma_n^\alpha - \sigma_{n-1}^\alpha)$  [8], the condition (1.2) can be stated by

$$\sum_{n=1}^{\infty} \frac{1}{n} |u_n^\alpha|^k < \infty.$$

Note that the definition of Flett [4] doesn't include the case  $\alpha = -1$ , although the Cesàro summability  $(C, \alpha)$

is studied usually for range  $\alpha \geq -1$  (see [5]). Hence, Thorpe [22] gave the separate definition for  $\alpha = -1$  as follows. If the series to sequence transformation

$$T_n = \sum_{v=0}^{n-1} x_v + (n+1)x_n \quad (1.3)$$

tends to a finite number  $s$  as  $n$  tends to infinity, then the series  $\sum x_n$  is summable by Cesàro summability  $(C, -1)$  to the number  $s$  [22].

Also, by the definition of Sarıgöl [16] and Thorpe [22], the series  $\sum x_n$  is said to be summable  $|C, -1|_k$ ,  $k \geq 1$ , if (see [6])

$$\sum_{n=1}^{\infty} n^{k-1} |T_n - T_{n-1}|^k < \infty.$$

In this context the series spaces  $|C_\alpha|_k$ ,  $k \geq 1$ , have been defined as the set of all series summable by the absolute Cesàro summability method  $|C, \alpha|_k$  in [14] and [6] for  $\alpha > -1$  and  $\alpha = -1$ , respectively.

If  $\sum \varepsilon_n x_n$  is summable by the method  $Y$  whenever  $\sum x_n$  is summable by the method  $X$ , then the sequence  $\varepsilon = (\varepsilon_n)$  is said to be a summability factor of type  $(X, Y)$  and we write it by  $\varepsilon \in (X, Y)$ . In the special case if it is taken as  $\varepsilon = 1$ , then  $1 \in (X, Y)$  leads to the comparisons of these methods, where  $1 = (1, 1, \dots)$  i.e.,  $X \subset Y$ .

\* Corresponding Author

Such types of factors were investigated in detail by several authors [1-3, 10-13, 15, 17-21], and recently some well known results in [10-13, 15] have been extended by Sarıgöl [15] and Sarıgöl & Hazar [7].

In this study, we deal with the problem of absolute Cesàro summability factors. More precisely, we characterize the sets  $(|C, \alpha|_k, |C, -1|)$ ,  $k > 1$  and  $(|C, -1|, |C, \alpha|_k)$ ,  $k \geq 1$  for  $\alpha > -1$ . So we give the inclusion relations between these methods, which completes some open problems in literature.

## 2. MAIN RESULTS

In this section we characterize the sets  $(|C, \alpha|_k, |C, -1|)$ ,  $k > 1$  and  $(|C, -1|, |C, \alpha|_k)$ ,  $k \geq 1$  for  $\alpha > -1$ . Thus, in the special case, we give the inclusion relations between methods.

Now, we require the following lemmas for our investigations.

Throughout this paper,  $k^*$  denote the conjugate of  $k > 1$ , i.e.,  $1/k + 1/k^* = 1$ , and  $1/k^* = 0$  for  $k = 1$ .

**Lemma 2.1.** Let  $1 < k < \infty$ . Then,  $A(x) \in \ell$  whenever  $x \in \ell_k$  if and only if

$$\sum_{v=0}^{\infty} \left( \sum_{n=0}^{\infty} |a_{nv}| \right)^{k^*} < \infty$$

where  $\ell_k = \{x = (x_v) : \sum |x_v|^k < \infty\}$  [15].

**Lemma 2.2.** Let  $1 \leq k < \infty$ . Then,  $A(x) \in \ell_k$  whenever  $x \in \ell$  if and only if

$$\sup_v \sum_{n=0}^{\infty} |a_{nv}|^k < \infty,$$

[9].

We begin with the characterization of the set  $(|C, \alpha|_k, |C, -1|)$  for  $k > 1$  and  $\alpha > -1$ .

**Theorem 2.3.** Let  $k > 1$  and  $\alpha > -1$ . Then,  $\varepsilon \in (|C, \alpha|_k, |C, -1|)$  if and only if

$$\sum_{r=1}^{\infty} \left( \sum_{n=r}^{\infty} \left| \left( \frac{(n+1)\varepsilon_n A_{n-r}^{-\alpha-1}}{n} - \varepsilon_{n-1} A_{n-1-r}^{-\alpha-1} \right) r^{1/k} A_r^\alpha \right| \right)^{k^*} < \infty. \quad (2.1)$$

**Proof.** Let define  $u_n^\alpha$  and  $T_n$  by (1.1) and

$$T_n = \sum_{v=0}^{n-1} \varepsilon_v x_v + (n+1)\varepsilon_n x_n$$

respectively. Using the definitions of  $u_n^\alpha$  and  $T_n$ , we define the sequences  $y = (y_n)$  and  $\tilde{y} = (\tilde{y}_n)$  by

$$y_n = \frac{u_n^\alpha}{n^{1/k}} = \frac{1}{n^{1/k} A_n^\alpha} \sum_{v=1}^n A_{n-v}^{\alpha-1} v x_v, n \geq 1$$

and  $y_0 = x_0$  (2.2)

and

$$\tilde{y}_n = T_n - T_{n-1} = (n+1)\varepsilon_n x_n - (n-1)\varepsilon_{n-1} x_{n-1},$$

$n \geq 1$  and  $\tilde{y}_0 = \varepsilon_0 x_0$  (2.3)

respectively. Then,  $\varepsilon \in (|C, \alpha|_k, |C, -1|)$  iff  $\tilde{y} \in \ell$  whenever  $y \in \ell_k$ . By inversion of (2.2), we write for  $n \geq 1$

$$x_n = \frac{1}{n} \sum_{v=1}^n A_{n-v}^{-\alpha-1} v^{1/k} A_v^\alpha y_v \quad (2.4)$$

Hence, by (2.4) we get for  $n \geq 1$

$$\begin{aligned} \tilde{y}_n &= (n+1)\varepsilon_n x_n - (n-1)\varepsilon_{n-1} x_{n-1} \\ &= (n+1)\varepsilon_n \frac{1}{n} \sum_{r=1}^n A_{n-r}^{-\alpha-1} r^{1/k} A_r^\alpha y_r \\ &\quad - (n-1)\varepsilon_{n-1} \frac{1}{n-1} \sum_{r=1}^{n-1} A_{n-1-r}^{-\alpha-1} r^{1/k} A_r^\alpha y_r \\ &= \sum_{r=1}^n \left( \frac{(n+1)\varepsilon_n A_{n-r}^{-\alpha-1}}{n} - \varepsilon_{n-1} A_{n-1-r}^{-\alpha-1} \right) r^{1/k} A_r^\alpha y_r \\ &= \sum_{r=1}^n c_{nr} y_r \end{aligned}$$

where

$$c_{nr} = \begin{cases} \left( \frac{(n+1)\varepsilon_n A_{n-r}^{-\alpha-1}}{n} - \varepsilon_{n-1} A_{n-1-r}^{-\alpha-1} \right) r^{1/k} A_r^\alpha, & 1 \leq r \leq n \\ 0, & r > n. \end{cases}$$

So  $\tilde{y} \in \ell$  whenever  $y \in \ell_k$  if and only if

$$\sum_{r=1}^{\infty} \left( \sum_{n=r}^{\infty} |c_{nr}| \right)^{k^*} < \infty,$$

by Lemma 2.1 or, equivalently, (2.1) holds. Thus the proof is completed.

Since  $1 \in (|C, \alpha|_k, |C, -1|)$  leads us to a comparison of summability fields of methods  $|C, \alpha|_k$  and  $|C, -1|$ , where  $1 = (1, 1, \dots)$ , that is  $|C, \alpha|_k \subset |C, -1|$ , taking  $\varepsilon_n = 1$  for all  $n \geq 1$  in Theorem 2.3 we get the following result.

**Corollary 2.4.** If  $k > 1$  and  $\alpha > -1$ , then,  $|C, \alpha|_k \subset |C, -1|$  if and only if

$$\sum_{r=1}^{\infty} \left( \sum_{n=r}^{\infty} \left| \left( \frac{(n+1)A_{n-r}^{\alpha-1}}{n} - A_{n-1-r}^{\alpha-1} \right) r^{1/k} A_r^{\alpha} \right| \right)^{k^*} < \infty.$$

**Theorem 2.5.** Let  $k \geq 1$  and  $\alpha > -1$ . Then the necessary and sufficient condition for  $\varepsilon \in (|C, -1|, |C, \alpha|_k)$ , is

$$\sup_r \sum_{n=r}^{\infty} \left| \frac{r}{n^{1/k} A_n^{\alpha}} \sum_{v=r}^n \frac{A_{n-v}^{\alpha-1} \varepsilon_v}{v+1} \right|^k < \infty. \quad (2.5)$$

**Proof.** As in proof of Theorem 2.3, we define sequences  $y = (y_n)$  and  $\tilde{y} = (\tilde{y}_n)$  by

$$y_n = \frac{1}{n^{1/k} A_n^{\alpha}} \sum_{v=1}^n A_{n-v}^{\alpha-1} v \varepsilon_v x_v, n \geq 1$$

and  $y_0 = \varepsilon_0 x_0$

and

$$\tilde{y}_n = (n+1)x_n - (n-1)x_{n-1}, n \geq 1 \text{ and}$$

$$\tilde{y}_0 = x_0 \quad (2.6)$$

respectively.

Then,  $\varepsilon \in (|C, -1|, |C, \alpha|_k)$  if and only if  $y \in \ell_k$  whenever  $\tilde{y} \in \ell$ . On the other hand, from (2.6) we write

$$x_n = \frac{1}{n(n+1)} \sum_{v=1}^n v \tilde{y}_v, n \geq 1 \text{ and } x_0 = \tilde{y}_0 \quad (2.7)$$

Hence, by (2.7) we get for  $n \geq 1$

$$\begin{aligned} y_n &= \frac{1}{n^{1/k} A_n^{\alpha}} \sum_{v=1}^n A_{n-v}^{\alpha-1} v \varepsilon_v x_v \\ &= \frac{1}{n^{1/k} A_n^{\alpha}} \sum_{v=1}^n A_{n-v}^{\alpha-1} v \varepsilon_v \frac{1}{v(v+1)} \sum_{r=1}^v r \tilde{y}_r \\ &= \frac{1}{n^{1/k} A_n^{\alpha}} \sum_{r=1}^n r \left( \sum_{v=r}^n \frac{A_{n-v}^{\alpha-1} \varepsilon_v}{v+1} \right) \tilde{y}_r = \sum_{r=1}^n c_{nr} \tilde{y}_r \end{aligned}$$

where

$$c_{nr} = \begin{cases} \frac{r}{n^{1/k} A_n^{\alpha}} \sum_{v=r}^n \frac{A_{n-v}^{\alpha-1} \varepsilon_v}{v+1}, & 1 \leq r \leq n \\ 0, & r > n. \end{cases}$$

Then,  $y \in \ell_k$  whenever  $\tilde{y} \in \ell$  if and only if

$$\sup_r \sum_{n=r}^{\infty} \left| \frac{r}{n^{1/k} A_n^{\alpha}} \sum_{v=r}^n \frac{A_{n-v}^{\alpha-1} \varepsilon_v}{v+1} \right|^k < \infty$$

by Lemma 2.2, which is the same as the condition (2.5). This completes the proof.

Since  $1 \in (|C, -1|, |C, \alpha|_k)$  leads us to a comparison of summability fields of methods  $|C, \alpha|_k$  and  $|C, -1|$ , where  $1 = (1, 1, \dots)$ , that is  $|C, -1| \subset |C, \alpha|_k$ , taking  $\varepsilon_n = 1$  for all  $n \geq 1$  in Theorem 2.5 we get the following result.

**Corollary 2.6.** If  $k \geq 1$  and  $\alpha > -1$ , then,  $|C, -1| \subset |C, \alpha|_k$  if and only if

$$\sup_r \sum_{n=r}^{\infty} \left| \frac{r}{n^{1/k} A_n^{\alpha}} \sum_{v=r}^n \frac{A_{n-v}^{\alpha-1}}{v+1} \right|^k < \infty.$$

## REFERENCES

- [1] H. Bor, "Some equivalence theorems on absolute summability methods," Acta Math. Hung., vol. 149, pp.208-214, 2016.
- [2] H. Bor and B. Thorpe, "On some absolute summability methods," Analysis 7, vol.2, pp.145-152, 1987.
- [3] H. Bor, "On two summability methods," Math. Proc. Cambridge Philos Soc., vol. 98, 147-149, 1985.
- [4] T.M. Flett, "On an extension of absolute summability and some theorems of Littlewood and Paley," Proc. London Math. Soc., vol. 7, pp. 113-141, 1957.
- [5] G.H. Hardy, Divergent Series, Oxford, 1949.
- [6] G.C. Hazar and M.A. Sarigöl, "Compact and Matrix Operators on the Space  $|C, -1|_k$ ," J. Comput. Anal. Appl., vol.25, no.6, pp. 1014-1024, 2018.
- [7] G.C. Hazar, and M.A. Sarigöl, "On factor relations between weighted and Nörlund means," Tamkang J. Math. (in press).
- [8] E. Kogbetliantz, "Sur lesseries absolument sommables par la methods des moyannes arithmetiques," Bull. des Sci. Math. , vol. 49, pp.234-256, 1925.
- [9] I.J. Maddox, "Elements of functinal analysis, Cambridge University Press," London, New York, 1970.
- [10] S.M. Mazhar, "On the absolute summability factors of infinite series," Tohoku Math. J., vol.23, pp.433-451, 1971.
- [11] M.R. Mehdi, "Summability factors for generalized absolute summability I," Proc. London Math. Soc., vol.3., no.10, pp.180-199, 1960.
- [12] R.N. Mohapatra, "On absolute Riesz summability factors," J. Indian Math. Soc., vol.32, pp.113-129, 1968.

- [13] C. Orhan and M.A. Sarigöl, "On absolute weighted mean summability," Rocky Mount. J. Math., vol.23, pp.1091-1097, 1993.
- [14] M. A. Sarigöl, "Spaces of series Summable by absolute Cesàro and Matrix Operators ," Comm. Math. Appl. , vol.7, no.1, pp.11-22, 2016.
- [15] M.A. Sarigöl, "Extension of Mazhar's theorem on summability factors," Kuwait J. Sci., vol.42, no.3, pp.28-35, 2015.
- [16] M.A. Sarigöl, "On the local properties of factored Fourier series," Appl. Math. Comp., vol.216, pp.3386-3390, 2010.
- [17] M.A. Sarigöl, and H. Bor, "Characterization of absolute summability factors," J. Math. Anal. Appl., vol. 195, pp.537-545, 1995.
- [18] M.A. Sarigöl, "On two absolute Riesz summability factors of infinite series," Proc. Amer. Math. Soc. , vol.118, pp.485-488, 1993.
- [19] M.A. Sarigöl, "A note on summability," Studia Sci. Math. Hungar., vol.28, pp.395-400, 1993.
- [20] W.T. Sulaiman, "On summability factors of infinite series," Proc. Amer. Math. Soc., vol.115, pp.313-317, 1992.
- [21] W.T. Sulaiman, "On some absolute summability factors of Infinite Series," Gen. Math. Notes, vol.2, no.2, pp.7-13, 2011.
- [22] B. Thorpe, "Matrix transformations of Cesàro summable Series," Acta Math. Hung., vol. 48(3-4), pp.255-265, 1986.